

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 1, 2022

Progress Estimate Number 4		Contract ID Prime Contractor	··· - · · · · · · · · · · · · · · · · ·			Original Contract Amount Net Change Order Amount Current Contract Amount	\$4,750,422.00 \$0.00 \$4,750,422.00			
Approval Date										
September 1, 2022		Generated and Approved (and should be considered Draft) at the Project Office Level by								
September 2, 2022		Re	eviewed and Approve	d (and should be co	nsidered Draft) at th	e Resident Engineer Level by	PULLIA			
September 6, 2022			Re	viewed and Approve	ed at the Central Offi	ce Controllers Office Level by	ramses1			
Original Compl	letion Date	e Current Completion Date Actual Completion Date % of Current Contract Am								
November 1	1, 2022	November		91.32%						

	Contract Informational Dat	tes	Milestones
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	December 1, 2021	December 1, 2021	
Letting Date	November 19, 2021	November 19, 2021	
Notice to Proceed Date	January 3, 2022	January 3, 2022	
Open to Traffic Date			
Work Began Date			

Contract Total Pa	y For Estimate No. 4			
		This Estimate	Previous	To Date
211119-H06				
	Total Posted Items Pay	\$972,001.06	\$3,365,978.74	\$4,337,979.80
	Gross Item Adjustments	\$167,052.52	\$598,380.80	\$765,433.32
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	•		\$3,964,359.54	\$5,103,413.12
Contract Total Page	yable This Estimate:	\$1,139,053.58		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Item Description Unit Unit Current Installed Price Qty						
J9P3746	0010	2129909	MISC.SHOULDER GRADING	STA	\$200.000	595.6	\$119,120.00			
	0030	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$71.850	11,870.3	\$852,881.06			
Project J9P374	6 - Total						\$972,001.06			
Overall - Total	Overall - Total									

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		ments Exist on Contract ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3746	0030	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,779.8	\$3.88	\$6,913.46
	0030	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,995.9	\$3.88	\$7,752.87
	0030	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,933.2	\$3.88	\$7,509.32
	0030	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,686.2	\$3.88	\$6,549.88
	0030	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,232.1	\$3.88	\$8,670.37
	0030	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,243.1	\$3.88	\$8,713.10
	0030	BITUMINOUS PAVEMENT	Material			-50,796.4	\$71.85	(\$3,649,721.34)

Revision 4/1/2020 Page 1 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 1, 2022

Progr	ess Es	timate Number 4	Contract II Prime Con		119-H06 .C-Central, Inc	c. Pay Period End September 1, 2022 Net	ginal Contrac Change Ord rent Contrac	er Amount	\$4,750,422.00 \$0.00 \$4,750,422.00
Project Number	Line No.	Item Descri	iption	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3746		MIXTURE PG6	4-22, (BP-1)						
	0030	BITUMINOUS I MIXTURE PG6		Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user forshd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	,	\$71.85	\$3,649,721.34
MIXTURE PG64-22, (BP-1) Adjustment Ceme Price						Estimate 0004- line 0030 11870.30 tons at 3.9% AC sp125-22-35= 120943.52			\$120,943.52
Total									\$167,052.52

Revision 4/1/2020 Page 2 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Information	1
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J9P3746	FAF-5-1(031)	Add Shoulders	5	OZARK	from Douglas County R	te. A to Ozark County Rte.	MM
Totals by J	Job Numbers						
J9P3746	Posted Ite Gross Iter	n Adjustments	s Gross Iter	m Pay	This Estimate \$972,001.06 \$167,052.52 \$1,139,053.58	Previous \$3,365,978.74 \$598,380.80 \$3,964,359.54	To Date \$4,337,979.80 \$765,433.32 \$5,103,413.12
		ve d Damages atract Adjustm	ents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00

Revision 4/1/2020 Page 3 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3746, Item 4011209, Project Item Line Number 0030, Material Set 401120996, Material 0403SP125CLG - Superpave 12.5 mm, Des C 80 Gyros, Acceptance Action Generic AspHigh is insufficient.	material accepted. reports pending	forshd1	Overridden

Revision 4/1/2020 Page 4 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
211119-H06	J9P3746	0001	0010	2129909	MISC.SHOULDER GRADING	2,667.60	0.00	2,667.60	STA	2,667.60	\$200.00	\$533,520.00
		0001	0020	3105002	GRAVEL (A) OR CRUSHED STONE (B)	2,254.00	0.00	2,254.00	TONS	0.00	\$14.00	\$0.00
		0001	0030	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	52,808.70	0.00	52,808.70	TONS	52,796.40	\$71.85	\$3,793,421.34
		0001	0040	4071005	TACK COAT	276.00	0.00	276.00	GAL	0.00	\$5.50	\$0.00
		0001	0050	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$515.00	\$0.00
		0001	0060	6161005	CONSTRUCTION SIGNS	769.00	0.00	769.00	SQFT	588.00	\$7.08	\$4,163.04
		0001	0070	6161025	CHANNELIZER (TRIM LINE)	200.00	0.00	200.00	EA	200.00	\$10.11	\$2,022.00
		0001	0080	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$1,213.35	\$4,853.40
		0001	0090	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$216,825.00	\$0.00
		0001	0100	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	269,565.00	0.00	269,565.00	LF	0.00	\$0.10	\$0.00
		0001	0110	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	152,390.00	0.00	152,390.00	LF	0.00	\$0.10	\$0.00
		0001	0120	6207001	PAVEMENT MARKING REMOVAL	269,566.00	0.00	269,566.00	LF	0.00	\$0.33	\$0.00
		0001	0130	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	2,168.90	0.00	2,168.90	STA	0.00	\$13.00	\$0.00
	Project J	9P3746 - To	tal Value	Posted to D	ate as of Report Generated Date							\$4,337,979.78
211119-H06 Ove	rall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$4,337,979.78

Revision 4/1/2020 Page 5 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9P3746

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2129909	MISC. SUBGRADING & SHOULDERING	8/16/22	8/19/22	90.00	STA	Rt shoulder	332.4		330.7		
			8/18/22	8/26/22	100.00	STA	Rt Shoulder	330.7		328.7		
			8/19/22	8/26/22	100.00	STA	Right Shoulder	328.7		326.7		
			8/20/22	8/26/22	100.00	STA	Rt Shoulder	326.7		325.0		
			8/22/22	8/26/22	100.00	STA	Rt Shoulder	325.0		323.0		
			8/23/22	8/26/22	105.60	STA	Rt shoulder	323.0		321.6		
0030	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	8/16/22	8/19/22	1,779.80	TONS	Rt Shoulder	332.4		330.7		
			8/18/22	8/26/22	1,995.90	TONS	Rt Shoulder	330.7		328.7		
			8/19/22	8/26/22	1,933.20	TONS	Rt Shoulder	328.7		326.7		
			8/20/22	8/26/22	1,686.20	TONS	Right Shoulder	326.7		325.0		
			8/22/22	8/26/22	2,232.10	TONS	Rt shoulder	325.0		323.0		
			8/23/22	8/26/22	2,243.10	TONS	Rt shoulder	323.1		321.6		

<u>The information below this line are details for Construction Signs (if applicable).</u>

No Data Available

Revision 4/1/2020 Page 6 of 7



Line Item Adjustments by Estimate

Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3746	0030	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Material	1,350	2	Aug 1, 2022	SYSTEM	\$494,945.91	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user wilesr overridding Payment Estimate Exception 1 on the current Payment Estimate.
		, ,			2	Aug 1, 2022	SYSTEM	(\$494,945.91)	
					4	Sep 1, 2022	SYSTEM	\$3,649,721.34	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user forshd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Sep 1, 2022	SYSTEM	(\$3,649,721.34)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	1	Jul 18, 2022	forshd1	\$25,639.78	July first period. Estimate 0001- Line 0030 2725.10 tons 3.9% virgin AC and Mix ID SP125-22-35
			,		2	Aug 1, 2022	WILESR	\$189,713.33	20163.5 tons of BP1 at 3.9%
					3	Aug 17, 2022	forshd1	\$183,779.58	AC adjustment for 18037.50 tons at 3.9% mix ID SP125-22-35
					4	Sep 1, 2022	forshd1	\$120,943.52	Estimate 0004- line 0030 11870.30 tons at 3.9% AC sp125-22-35= 120943.52
				ACAD - Tota	al			\$520,076.21	
			Other Item A	Adjustment -	Total			\$520,076.21	
			Price FUEL		1	Jul 18, 2022	SYSTEM	\$15,380.47	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2	Aug 1, 2022	SYSTEM	\$113,802.79	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Aug 17, 2022	SYSTEM	\$70,064.85	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Sep 1, 2022	SYSTEM	\$46,109.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$245,357.11	
			Price FUEL	- Total				\$245,357.11	
	0030 -	Total						\$765,433.32	
	0060	CONSTRUCTION SIGNS	Material		1	Jul 18, 2022	SYSTEM	\$4,163.04	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user forshd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Jul 18, 2022	SYSTEM	(\$4,163.04)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0060 -	Total						\$0.00	
	0070	CHANNELIZER (TRIM LINE)	Material		1	Jul 18, 2022	SYSTEM	\$2,022.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user forshd1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Jul 18, 2022	SYSTEM	(\$2,022.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0070 -	Total						\$0.00	
	0800	TEMPORARY SHORT-TERM RUMBLE STRIPS	Material		1	Jul 18, 2022	SYSTEM	\$4,853.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user forshd1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					1 Jul 18, SYSTEM 2022		SYSTEM	(\$4,853.40)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0080 -	Total						\$0.00	
J9P3746 -	- Total							\$765,433.32	
Overall - 1	Total							\$765,433.32	